7 ¢

-~ _ KD-160AGV+1 /B




A & B

| - FNo. oW n B L W& ||wE| - e oM % B Li— W
160AG | 160AGV1| 160AGH 160AG | 160AGV1| 160AGH
1| 22313-1111-1 | 7L —4 1 | 1 32 | 22301-2131-1 | KA+ (F,LH) 1 1 |
2 | 22145-1161-1 | 777 7 (31X31) 4 4 4 33 | 22301-2132-1 |"FX b+ (F,RH) 1 | 1
3 | 22301-1112-1 | ¥ x¥ v ¥ | 1 1 34 | 22301-2133-1 | KA+ (R,LH) I | 1
4 | 01202-50614 |Ki b 2 2 2 M6 X 14 35 | 22301-2134-1 | KA K (R,RH) 1 1 1
5 | 02014-50060 |7 v b 4 4 4 | M6 36 | 22377-2141-2 | ¥—24 (1) 2 2 2
6 | 53721-5334-1 | ¥ v # AN v/X— | 1 1 37 | 2237721422 | ¥—24 (2) 2 2 2
7 | 53721-5335-1 | ¥ ¥ v ¥ A b vs3—KIL | 1 1 | 38 | 22301-2143-1 |FEA M (A5 4 F, 1) 2 2 2
8 | 53581-5624-1 | v v & A b v /i—/% 1 1 | 39 | 22301-2144-1 | RA b+ (254 F,2) 2 2 2
9 | 07715-01605 |F—J 1 1 1 40 | 22301-2145-1 | E—24 (3) 2 2 2
10 | 02021-50060 |7 b 8 8 8 M67 7 v+ M| 41 | 22301-2146-1 | E— 24 (4) 2 2 2
22301-1113-1 | X—Z (F3I77) 1 42 | 22301-2151-1 | ¥ > (U) 6 6 6
11| 22305-1111-1 | XN—=Z (E3I77) 1 43 | 22301-2152-1 | ¥> (L) 4 4 4
22303-1121-2 | X—=A (£ I77T) 1 44 | 22377-2144-1 | ¥~ (8-70) 4 4 4 $8X70
12 | 22373-1125-1 [105AF > Y 1 1 1 45 | 05516-50800 | AF v TE >~ 14 14 14 | 484l
13 | 22373-1127-1 | HA N (39775 X=2Z,1) 2 2 2 46 | 05525-50800 | AF v TE ¥ 4 4 4 $8/1
14 | 22373-1128-1 |4 F (EI7F5~X—2,2) 1 I 1 47 | 22301-2153-1 | 77 7 (35X35) 4 4 4
15 | 01026-50616 | KNk 5 5 5 | M6X16 2231341111 | I~ (HF T F) I
16 | 04015-50060 |k 77 % 12 12 12| M6 ($22X12.0) 48 | 22317-4111-1 | 90 (B ¥ %) |
17 | 01202-50620 |4V b 2 2 2 1 M6X20 22315-4111-1 | TN (57 %) 1
18 | 22301-2110-1 | %> 7 (£3) Tv¥ | I I 49 | 22373-1152-2 | I~ (T HFay) 1 1 |
19 | 22301-2111-1 | %> 7 (€£3) 1 1 1 50 | 22111-1133-1 | AT <=7 1 |
20 | 22377-2112-1 | ) v T 2 2 2 51| 22301-4112-1 | 9NV (T F) 2 2 2
21 | 22377-21132 |a—7 2 2 2 52 | 22301-4113-1 | 70V (7 7) 2 2 2
22 | 2237721212 | X—ZA (77 0) 1 1 | 53 | 22301-4114-1 | 7~ (7 11) 2 2 2
23 | 22373-1133-1 [210AR > 2 2 2 54 | 22301-4115-1 | 90V (3 K1) 2 2 2
24 | 22373-1134-1 |J7—F (771) 4 4 4 55 | 22313-4112-1 | 70V (A) 1 I ]
25 | 01202-50635 | R b 6 6 6 | M6X35 56 | 22313-4113-1 | 7N (B) 1 1 |
26 | 22377-2122-1 | F v b (M6, V¥ 7) 2 2 2 57 | 2237741142 | ix— (b 7) ] 1 1
27 | 01202-50616 | K b 2 2 2 | M6X16 58 | 22313-5111-1 | MU TYH A€V AL+ 1 1 |
28 | 22377-2123-1 | / 7KL b (M6X25) 2 2 2 | M6X25
29 | 04512-50060 | /SHHFH A 2 2 2 | M6
30 | 22875-3142-1 | E Itk H— 1 | | afiti
31 | 02021-50050 |+ v b 2 2 2 | M575rYFv b




A bA-=J)l Ry R

1(2~30)



ayhra—-JIbRy o R

(| =2~ FNo. L 160AG1E;60AGV?[16OAGH [#| = FNo. L 160AG1?60AGV?£160AGH f s
22301-3110-1 |Ev s X, FyF(avro—L) 1 22301-3118-1 |I—F (£—%) 1
1 | 22305-3110-1 |FvZ7 A, FvF(arba—)y) 1 24 | 22305-3118-1 | I—F (£—%) 1
22303-3110-1 | &Ky 27X, Fv b (arba—)) 1 22303-3118-1 |TI—F (£—%) 1
2 | 22301-3111-1 | Ky 27X (3> ra—)) 1 1 1 25 | 22301-3119-1 | I—F (F¥4>) 1 1
3 | 22301-3112-1 | 9~ (K 7 R) 1 1 1 26 | 22731-3131-1 | ¥ 3375 74P 1 1
4 | 22301-3113-1 | #N— (Kv 7 &) 1 1 1 27 | 22305-3119-1 |2 —F (F¥# ) 1
5 | 01222-50610 |F)L b 3 3 3 | M6X10 28 | 22301-3121-1 |2—F (nhA ) 1 1 1
6 | 22301-3114-1 | A4 v F (17) 1 1 1 29 | 22301-3122-1 |3 —F (£ >4¥) 1 1 1
22301-3115-1 | F> I HA4~A 1 30 | 22122-1181-1 | Z T A v b 1 1 1
7 | 22305-3115-1 |7 VA4~ F 1 31 | 01026-50616 | )L b 2 2 2 | M6X16
22303-3115-1 | T I A4~ * 1 32 | 22373-1126-1 | Lox— (N2 FV) 1 1 1
8 | 03054-50412 | F NI AT 4 4 | M4xX12 33 | 05511-50318 |7 K> 1 1 1 ¢ 3H
9 | 04512-50040 | /NFHH & 6 6 | M4 34 | 04011-50100 |k SHH 4 1 1 1| MI10(¢18X1t2.0)
10 | 02054-50040 |7 v k 6 6 | M4 35 | 22124-11462 | A7) ¥ 7 (Y Fv) 1 1 1
1] 2212421151 | 8 4 ~<— 1 1 36 | 02052-50800 |+ v 1 1 1 | M8
22719-2127-1 | % 4 < — 1 37 | 71218-2139-1 | / 7K b 1 1 1 | M8X20
12 | 22124-2116-1 |4V =554 1 1 1 22735-2111-2 | E—% (Z=AH200V 0.75kw) 1
13 | 22301-3116-1 | 3 =) L — (12V) 1 1 1 38 | 22374-1221-1 |€—% (HAHI00V 0.4kw) 1
14 | 22735-2135-1 |YL—V4 v b 1 I 1 22758-1126-1 | €—% (ZAH200V 1.0kw) 1
15 | 03054-50416 |F+~a%Y 2 2 2 | M4X16 39 | 22374-1123-1 | HN— (E—%) 1
16 | 22301-3117-1 NS 1 1 40 | 01222-50616 F ok 4 4 M6X 16
22305-3117-1 | F 5> 2 1 01152-50820 | K b 4 | M8X20
17 | 03054-50308 | F~aty 2 2 2 | M3X8 41 |02021-50060 F > b 4 4 M675 T+ b
18 | 04512-50030 | /NFAHH 3 2 2 2 | M3 02121-50080 |+ v b 4 |M87F5xVF v b
19 | 02054-50030 |+ b 2 2 2 | M3 4 | 15272-6759-1 | - A 1 1 M6
5o | 22735-2138-1 IECTIry bk (FLY) 1 1 13824-6758-1 |a— K2 57 1 | M8H]
22737-2128-1 | AF Y T54 v b (L) 1 13 22373-1122-1 | E— %V AK R 1 ]
’ 22124-2125-1 | 242754 vk (LK) 1 1 22374-1126-1 |V A7 59 F (E—%) 1
22737-2129-1 | #F > 754 vk (L F) 1 44 | 03650-00812 | F A %Y 1 1 1
22 | 22124-2121-1 | AT KY VAL v+ 1 1 1
23 | 22777-2115-1 |3 >+t > F2P 1 1 1




